

 $Welcome\ RDIERKS@hollywoodfl.org\ |\ \underline{\textbf{Logout}}$ Need assistance? Contact us

Home

Search

Source

Contracts

Tools

View by Line Item | View by Supplier

Email Tabulation | Generate PDF | View Printable

Bid #F-4443-15-RD - City-Wide Tree Trimming, Pruning, Removal, and Stump Grinding Services

Creation Date Jul 28, 2015

Aug 31, 2015 4:30:11 PM EDT

End Date

Sep 24, 2015 3:00:00 PM EDT

Awarded Date Not Yet Awarded

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BTS Land Services Corp [Ad]	First Offer - \$200.00	1 / each	\$200.00	Ū.	Û
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		l	
edj Service, Inc.	First Offer - \$275.00	1 / each	\$275.00	***************************************	J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			·····
Quality Tree Care, Inc.	First Offer - \$300.00	1 / each	\$300.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		······································	······
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$300.00	1 / each	\$300.00	***************************************	Ø
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Raydel Landscaping Corp	First Offer - \$350.00	1 / each	\$350.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
BTS Land Services Corp [Ad]	First Offer - \$225.00	1 / each	\$225.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	·		
edj Service, Inc.	First Offer - \$300.00	1 / each	\$300.00		Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	J		
Raydel Landscaping Corp	First Offer - \$400.00	1 / each	\$400.00		Ū
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	J	L	······
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$400.00	1 / each	\$400.00		<u> </u>
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Quality Tree Care, Inc.	First Offer - \$500.00	1 / each	\$500.00		Ū.
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	<u> </u>		

Supplier	Linit Drice	Qty/Unit	T10/	4	
		 	Total Price	Attch.	Docs
BTS Land Services Corp [Ad]	First Offer - \$350.00	1 / each	\$350.00		Ð.
Product Code:		Supplier Product Code:	**************************************	~~~~	
Agency Notes:		Supplier Notes:			
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$400.00	1 / each	\$400.00		<u>(</u>
Product Code:		Supplier Product Code:	łl		******************
Agency Notes:		Supplier Notes:			
Raydel Landscaping Corp	First Offer - \$425.00	1 / each	\$425.00		Ð
Product Code:		Supplier Product Code:	<u> </u>		
Agency Notes:		Supplier Notes:			
edj Service, Inc.	First Offer - \$485.00	1 / each	\$485.00		Ú
Product Code:		Supplier Product Code:			***************************************
Agency Notes:		Supplier Notes:			
Quality Tree Care, Inc.	First Offer - \$1,000.00	1 / each	\$1,000.00		(j
Product Code:		Supplier Product Code:	·		
Agency Notes:		Supplier Notes:			

Product Feedback

F-4443-15-RD01-04 Group I - Complete Tree Removal: 11' - 20' tr	ee height, 41' up canopy d	iameter			
Supplier DTS Land Sources Corp Mail		e Qty/Unit	Total Price	Attch.	Docs
BTS Land Services Corp [Ad] Product Code:	First Offer - \$400.00	1 / each Supplier Product Code:	\$400.00	······	Û
Agency Notes:		Supplier Notes:		•••••	~~~~
Raydel Landscaping Corp Product Code:	First Offer - \$500.00		\$500.00		<u> </u>
Agency Notes:		Supplier Product Code: Supplier Notes:			
edj Service, Inc.	First Offer - \$600.00	1 / each	\$600.00		Ø
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$600.00	~ 	\$600.00		Ø
Product Code: Agency Notes:		Supplier Product Code:		l	
Quality Tree Care, Inc.	First Offer - \$2,500.00	Supplier Notes: 1 / each	\$2,500.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
F-4443-15-RD01-05 Group I - Complete Tree Removal: 21' - 30' tre	ee height, 21' - 40' canopy	diameter	***************************************	***************************************	
Supplier	Unit Price	T	Total Price	Attch.	Docs
BTS Land Services Corp [Ad]	First Offer - \$400.00	20 / each	\$8,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
edj Service, Inc.	First Offer - \$500.00	20 / each	\$10,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code:		l	*****************
Raydel Landscaping Corp	First Offer - \$800.00	Supplier Notes: 20 / each	\$16,000.00	T	(J
Product Code:		Supplier Product Code:		l.	
Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$800.00	Supplier Notes: 20 / each	\$16,000.00		
Product Code:	1113CONET - \$000.00	Supplier Product Code:	\$10,000.00		Û
gency Notes:		Supplier Notes:			
					Ø
	First Offer - \$900.00	20 / each	\$18,000.00		W
Quality Tree Care, Inc. Product Code: Agency Notes:	Hrst Offer - \$900.00	20 / each Supplier Product Code: Supplier Notes:	\$18,000.00		<u> </u>
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	\$18,000.00		U
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre		Supplier Product Code: Supplier Notes:	\$18,000.00	Attch.	Docs
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier	ee height, 41' up canopy di	Supplier Product Code: Supplier Notes: ameter Qty/Unit		Attch.	
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier BTS Land Services Corp [Ad] Product Code:	ee height, 41' up canopy di. Unit Price	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code:	Total Price	Attch.	Docs
Product Code: Igency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier ITS Land Services Corp [Ad] Product Code: Igency Notes:	ee height, 41' up canopy di. Unit Price	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes:	Total Price	Attch.	Docs ()
Product Code: Gency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier STS Land Services Corp [Ad] Product Code: Gency Notes: dj Service, Inc. Product Code:	ee height, 41' up canopy di Unit Price First Offer - \$400.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code:	Total Price \$8,000.00	Attch.	Docs
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Agency Notes: Adj Service, Inc. Product Code: Agency Notes: Agency Notes:	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: Supplier Notes:	Total Price \$8,000.00 \$15,000.00	Attch.	Docs Û
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Agency Notes: Adj Service, Inc. Product Code: Agency Notes: Adj Service, Inc. Product Code: Agency Notes: Adj Service, Inc.	ee height, 41' up canopy di Unit Price First Offer - \$400.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: Supplier Product Code: Supplier Notes:	Total Price \$8,000.00	Attch.	Docs (j
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Agency Notes: Adj Service, Inc. Product Code: Agency Notes: Agency Notes: Agency Notes: Adviced Landscaping Corp Product Code: Agency Notes: Adviced Landscaping Corp	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00 First Offer - \$800.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes:	Total Price \$8,000.00 \$15,000.00 \$16,000.00	Attch.	Docs ①
Product Code: gency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier ETS Land Services Corp [Ad] Product Code: gency Notes: dj Service, Inc. Product Code: gency Notes: laydel Landscaping Corp Product Code: gency Notes: laydel Landscaping Corp Product Code: gency Notes: laydel Tree Care, Inc.	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each	Total Price \$8,000.00 \$15,000.00	Attch.	Docs Û
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Agency Notes: Adj Service, Inc. Product Code: Agency Notes: Avdel Landscaping Corp Product Code: Agency Notes: Avdel Landscaping Corp Product Code: Agency Notes: Avdel Tree Care, Inc. Product Code: Agency Notes: Avduity Tree Care, Inc. Product Code: Agency Notes: Avduity Tree Care, Inc. Product Code: Agency Notes:	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00 First Offer - \$800.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes:	Total Price \$8,000.00 \$15,000.00 \$16,000.00	Attch.	Docs ①
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Agency Notes: Add Service, Inc. Product Code: Agency Notes: Advice Landscaping Corp Product Code: Agency Notes: Advice Landscaping Corp Product Code: Agency Notes: Advice Landscaping Corp Product Code: Agency Notes: Advice Code: Advice Code: Agency Notes: Advice Code: Adv	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00 First Offer - \$800.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each	Total Price \$8,000.00 \$15,000.00 \$16,000.00	Attch.	Docs ii
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier BTS Land Services Corp [Ad] Product Code: Agency Notes: Bed Service, Inc. Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Quality Tree Care, Inc. Product Code: Agency Notes: Quality Tree Care, Inc. Product Code: Agency Notes: Agency Notes	First Offer - \$800.00 First Offer - \$1,000.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes:	Total Price \$8,000.00 \$15,000.00 \$16,000.00	Attch.	Docs ()
Product Code: Igency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier BTS Land Services Corp [Ad] Product Code: Igency Notes: Idj Service, Inc. Product Code: Igency Notes: Idvidel Landscaping Corp Product Code: Igency Notes: Idvidel Code: Igency Notes:	ee height, 41' up canopy di	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Notes:	Total Price \$8,000.00 \$15,000.00 \$16,000.00	Attch.	Docs (i)
Product Code: Ingency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Ingency Notes: Indi Service, Inc. Product Code: Ingency Notes: Indi Code: Ingency Notes: Ingency Notes: Indi Code: Ingency Notes: Ingency Notes: Ingency Notes: Indi Code: Ingency Notes: Indi Code: Ingency Notes: Indi Code: Ingency Notes: Indi Code: Ingency Notes: Ingency Notes: Ingency Notes: Ingency Notes: Ingency Notes: Ingency Notes: Ingency N	ee height, 41' up canopy di	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Notes: 30 / each Supplier Notes:	Total Price \$8,000.00 \$15,000.00 \$16,000.00	Attch.	Docs (i)
Product Code: Igency Notes: F-4443-15-RD-01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier STS Land Services Corp [Ad] Product Code: Igency Notes: Idj Service, Inc. Product Code: Igency Notes: Idj Service, Inc. Include Code: Igency Notes: Include Code: Include Code: Igency Notes: Include Code: Ig	ee height, 41' up canopy di	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each	Total Price \$8,000.00 \$15,000.00 \$15,000.00 \$20,000.00		Docs ()
Product Code: Ingency Notes: F-4443-15-RD-01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier ETS Land Services Corp [Ad] Product Code: Ingency Notes: Idj Service, Inc. Product Code: Ingency Notes: Incount Code: Ingency Notes: Ingency Notes: Index Code: Ingency Notes: Ingency Notes: Index Code: Ingency Notes: Ingenc	ee height, 41' up canopy di	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$8,000.00 \$15,000.00 \$15,000.00 \$20,000.00 \$32,000.00		Docs J
Product Code: Igency Notes: F-4443-15-RD-01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier ITS Land Services Corp [Ad] Product Code: Igency Notes: Idj Service, Inc. Product Code: Igency Notes: Idj Service, Inc. Iroduct Code: Igency Notes: Inc. Iroduct Code:	ee height, 41' up canopy di	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each	Total Price \$8,000.00 \$15,000.00 \$15,000.00 \$20,000.00 \$32,000.00		Docs J
Product Code: Ingency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Ingency Notes: Indi Service, Inc. Product Code: Ingency Notes: Indi Service Inc. Product Code: Ingency Notes: Indi County Tree & LANDSCAPE CO, INC. Product Code: Ingency Notes: Indi Service Inc. Product Code: Indi Service Inc. Product Code: Ingency Notes: Indi Service Inc. Indi Service In	First Offer - \$750.00 First Offer - \$1,000.00 First Offer - \$1,600.00 First Offer - \$1,600.00 First Offer - \$1,600.00 First Offer - \$1,600.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code:	Total Price \$8,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$32,000.00 \$32,000.00		Docs Docs
Product Code: Ingency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Ingency Notes: Indi Service, Inc. Product Code: Ingency Notes: Indi Service Inc. Product Code: Ingency Notes: Indi County Tree & LANDSCAPE CO, INC Indi Code: Indi	First Offer - \$750.00 First Offer - \$1,000.00 First Offer - \$1,600.00 First Offer - \$1,600.00 First Offer - \$1,600.00 First Offer - \$1,600.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Notes: 20 / each	Total Price \$8,000.00 \$15,000.00 \$15,000.00 \$20,000.00 \$32,000.00 \$20,000.00 \$20,000.00		Docs J Docs
Product Code: Ingency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tree Supplier BTS Land Services Corp [Ad] Product Code: Ingency Notes: Indi Service, Inc. Product Code: Ingency Notes: Indi Service Inc. Product Code: Ingency Notes: Indi Service Inc. Product Code: Ingency Notes: Indi Louin Tree Care, Inc. Product Code: Ingency Notes: Indi Code: Ingency Notes: Indi Code: I	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00 First Offer - \$1,000.00 First Offer - \$1,600.00 The height, 21 - 40' canopy down the price of the	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Notes: 20 / each Supplier Product Code:	Total Price \$8,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$32,000.00 \$32,000.00		Docs Docs
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier BTS Land Services Corp [Ad] Product Code: Agency Notes: Agency	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00 First Offer - \$1,000.00 First Offer - \$1,600.00 Luit Price First Offer - \$450.00 First Offer - \$1,000.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code:	Total Price \$8,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$32,000.00 \$20,000.00 \$20,000.00 \$20,000.00		Docs I Docs II II III Docs III III III III III III III
Product Code: Agency Notes: F-4443-15-RD01-06 Group I - Complete Tree Removal: 21' - 30' tre Supplier 3TS Land Services Corp [Ad] Product Code: Agency Notes: dej Service, Inc. Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00 First Offer - \$1,000.00 First Offer - \$1,600.00 The height, 21 - 40' canopy down the price of the	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code: Supplier Notes: 20 / each	Total Price \$8,000.00 \$15,000.00 \$15,000.00 \$20,000.00 \$32,000.00 \$20,000.00 \$20,000.00		Docs
Product Code:	ee height, 41' up canopy di Unit Price First Offer - \$400.00 First Offer - \$750.00 First Offer - \$1,000.00 First Offer - \$1,600.00 Luit Price First Offer - \$450.00 First Offer - \$1,000.00	Supplier Product Code: Supplier Notes: ameter Qty/Unit 20 / each Supplier Product Code: Supplier Notes: 20 / each Supplier Product Code:	Total Price \$8,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$32,000.00 \$20,000.00 \$20,000.00 \$20,000.00		Docs Docs Docs Docs

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
F-4443-15-RD01-08 Group i - Complete Tree Removal: 3 Supplier	11' - 40' tree height, 41' up canopy di Unit Price		Total Price	*** **	
BTS Land Services Corp [Ad]	First Offer - \$900.00	·	\$18,000.00	Attch.	Doc
Product Code:		Supplier Product Code:	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~		
gency Notes:	115	Supplier Notes:			
laydel Landscaping Corp roduct Code:	First Offer - \$1,200.00		\$24,000.00		Û
roduct code. Agency Notes:		Supplier Product Code: Supplier Notes:			
dj Service, Inc.	First Offer - \$1,400.00	20 / each	\$28,000.00		(j
Product Code: gency Notes:		Supplier Product Code: Supplier Notes:			***************************************
Quality Tree Care, Inc.	First Offer - \$1,500.00	· 	\$30,000.00		Û
roduct Code:		Supplier Product Code:			
gency Notes: .LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$3,500.00	Supplier Notes: 20 / each	\$70,000,00		
roduct Code:	First Offer - \$5,300.00	Supplier Product Code:	\$70,000.00		Ø
gency Notes:	***************************************	Supplier Notes:			
4443-15-RD01-09 Group I - Complete Tree Removal: 4	1' - 50' tree height 21' - 40' canony d	liameter			
Supplier	Unit Price	·	Total Price	Attch.	Docs
TS Land Services Corp [Ad]	First Offer - \$935.00		\$7,480.00		0
roduct Code:		Supplier Product Code:		l.	
gency Notes: aydel Landscaping Corp	First Offer - \$1,500.00	Supplier Notes: 8 / each	\$12,000.00		Û
roduct Code:	11134 01161 7 17500.00	Supplier Product Code:	\$12,000.00		W
gency Notes:	•••••	Supplier Notes:			
dj Service, Inc.	First Offer - \$1,500.00	8 / each	\$12,000.00		<u> </u>
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:			
uality Tree Care, Inc.	First Offer - \$2,500.00	8/each	\$20,000.00		Ú
roduct Code:	······································	Supplier Product Code:			
gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$4,500.00	Supplier Notes: 8 / each	\$36,000.00	r	
roduct Code:	11130 01101 \$4,500.00	Supplier Product Code:	\$30,000.00		Ŋ
gency Notes:		Supplier Notes:	······		
-4443-15-RD01-10 Group I - Complete Tree Removal: 4	l' - 50' tree height 41' un canony dia	meter			******
upplier		Qty/Unit	Total Price	Attch.	Docs
aydel Landscaping Corp	First Offer - \$1,500.00	8 / each	\$12,000.00		Ú
oduct Code: gency Notes:		Supplier Product Code:			
IS Land Services Corp [Ad]	First Offer - \$1,500.00	Supplier Notes: 8 / each	\$12,000.00		Ø
oduct Code:		Supplier Product Code:			
gency Notes:		Supplier Notes:			
uality Tree Care, Inc.	First Offer - \$2,000.00	8 / each	\$16,000.00		Ø
gency Notes:		Supplier Product Code: Supplier Notes:			
lj Service, Inc.	First Offer - \$2,000.00	8 / each	\$16,000.00		Ū
oduct Code: gency Notes:		Supplier Product Code:			
L COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$5,500.00	Supplier Notes: 8 / each	\$44,000.00		- U
oduct Code:		Supplier Product Code:	·····		
gency Notes:		Supplier Notes:			***************************************
4443-15-RD02-01 Group II - Stump Grinding: 0" - 12" di	ameter				
ıpplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ydel Landscaping Corp		2 / each	\$100.00		Ú
oduct Code: ency Notes:		Supplier Product Code: Supplier Notes:			
ality Tree Care, Inc.		2 / each	\$100.00	T	0
oduct Code:		Supplier Product Code:			
ency Notes: Service, Inc.		Supplier Notes: 2 / each	¢120.00		Ω
oduct Code:		Supplier Product Code:	\$120.00		J
ency Notes:		Supplier Product Code: Supplier Notes:			
S Land Services Corp [Ad]					Ø

Product Code:		Supplier Product Code:		
Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$100.00	Supplier Notes: 2 / each	\$200.00	
Product Code:	Pirst Offer - \$100.00	Supplier Product Code:	\$200.00	<u> </u>
Agency Notes:		Supplier Notes:		***************************************
F-4443-15-RD02-02 Group II - Stump Grinding: 13" - 24" diamet		· · · · · · · · · · · · · · · · · · ·		
Supplier Raydel Landscaping Corp	Unit Price First Offer - \$75.00	······································	Total Price Attch. \$3,450.00	Docs
Product Code:	7113COTTET - \$75.00	Supplier Product Code:		
Agency Notes:		Supplier Notes:		
BTS Land Services Corp [Ad]	First Offer - \$75.00	46 / each	\$3,450.00	0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Quality Tree Care, Inc.	First Offer - \$100.00	······································	\$4,600.00	l Ø
Product Code:		Supplier Product Code:		
Agency Notes: edj Service, Inc.	First Offer - \$110.00	Supplier Notes: 46 / each	#F 0C0 00	
Product Code:	FIISCOILEI - \$110.00	Supplier Product Code:	\$5,060.00	l 0
Agency Notes:		Supplier Notes:		
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$200.00	46 / each	\$9,200.00	- O
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
F-4443-15-RD02-03 Group II - Stump Grinding: 25" - 48" diamete				***************************************
Supplier	Unit Price	· · · · · · · · · · · · · · · · · · ·	Total Price Attch.	Docs
BTS Land Services Corp [Ad]	First Offer - \$75.00	150 / each	\$11,250.00	l (i
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Raydel Landscaping Corp	First Offer - \$150.00	150 / each	\$22,500.00	0
Product Code:		Supplier Product Code:		
gency Notes:	First Offer #150.00	Supplier Notes: 150 / each	\$22.500.00 J	
Ouality Tree Care, Inc. roduct Code:	First Offer - \$150.00		\$22,500.00	Û
roduct Code. Gency Notes:		Supplier Product Code: Supplier Notes:		
dj Service, Inc.	First Offer - \$150.00	150 / each	\$22,500.00	l l
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$300.00	150 / each	\$45,000.00	0
roduct Code:		Supplier Product Code:		
gency Notes:		Supplier Notes:		
-4443-15-RD02-04 Group II - Stump Grinding: stump removal -		·		
Supplier TS Land Services Corp [Ad]	Unit Price First Offer - \$75.00	· 	Total Price Attch. \$11,250.00	Docs
roduct Code:	1113001101 773.00	Supplier Product Code:	¥11,250.00	<u> </u>
gency Notes:		Supplier Notes:		~~~~~
uality Tree Care, Inc.	First Offer - \$75.00	150 / each	\$11,250.00	l (i
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
dj Service, Inc.	First Offer - \$75.00	150 / each	\$11,250.00	U
roduct Code:		Supplier Product Code:		_L
gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$100.00	Supplier Notes: 150 / each	\$15,000.00	T 0
roduct Code:	First Offer - \$100.00	Supplier Product Code:	\$13,000.00	
gency Notes:		Supplier Notes:		
aydel Landscaping Corp	First Offer - \$200.00	150 / each	\$30,000.00	Ð
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
-4443-15-RD03-01 Group III - Tree Pruning and Shaping (Crown	cleaning or thinning): 21' -	30' canopy diameter		
upplier	Unit Price	Qty/Unit	Total Price Attch.	Docs
LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$40.00	150 / each	\$6,000.00	Ú
		Supplier Product Code:		
		Supplier Notes:		Ú
gency Notes:		150 / each	\$6.750.00	
gency Notes: aydel Landscaping Corp	First Offer - \$45.00		\$6,750.00	0
roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: dj Service, Inc.	First Offer - \$45.00	150 / each Supplier Product Code: Supplier Notes: 150 / each	\$6,750.00	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
BTS Land Services Corp [Ad]	First Offer - \$65.00	150 / each	\$9,750.00	Ű
Product Code:		Supplier Product Code:	······································	
Agency Notes: Quality Tree Care, Inc.	First Offer - \$75.00	Supplier Notes: 150 / each	\$11,250.00	Ø
Product Code:	I I	Supplier Product Code:		
Agency Notes:		Supplier Notes:		
F-4443-15-RD03-02 Group III - Tree Pruning and Shaping (Crown cl	leaning or thinning): 31'.	40' canony diameter	***************************************	
Supplier	Unit Price		Total Price Attch.	Docs
Raydel Landscaping Corp	First Offer - \$45.00	175 / each	\$7,875.00	Ú
Product Code: vgency Notes:		Supplier Product Code: Supplier Notes:		······
LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$60.00	175 / each	\$10,500.00	Ú
Product Code:	<u>L</u>	Supplier Product Code:		
gency Notes:	T T =	Supplier Notes:		
TS Land Services Corp [Ad]	First Offer - \$75.00	175 / each	\$13,125.00	0
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
dj Service, Inc.	First Offer - \$95.00	175 / each	\$16,625.00	0
roduct Code:		Supplier Product Code:	······································	
gency Notes: Quality Tree Care, Inc.	First Offer - \$125.00	Supplier Notes: 175 / each	\$21,875.00	Ú
Product Code:	1.13. 31.61 - \$123.00	Supplier Product Code:	*21,073.00	W
gency Notes:		Supplier Notes:		
: MA2.15.PD. 02.02 Group III. Troo Providence of Charles (C.	apping or things - 3: (1)	EO! sanony diamet		
-4443-15-RD03-03 Group III - Tree Pruning and Shaping (Crown cl Supplier	eaning or thinning): 41' - Unit Price	ļ	Total Price Attch.	Docs
aydel Landscaping Corp	First Offer - \$55.00	175 / each	\$9,625.00	Ū
roduct Code:	ll	Supplier Product Code:	······································	
gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$120.00	Supplier Notes: 175 / each	\$21,000.00	- Q
roduct Code:	First Offer - \$120.00	Supplier Product Code:	\$21,000.00	- U
gency Notes:		Supplier Product Code. Supplier Notes:		
TS Land Services Corp [Ad]	First Offer - \$125.00	175 / each	\$21,875.00	Ŋ.
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
uality Tree Care, Inc.	First Offer - \$150.00	175 / each	\$26,250.00	(j)
roduct Code:	L_I	Supplier Product Code:		
gency Notes:	T	Supplier Notes:		
dj Service, Inc.	First Offer - \$150.00	175 / each	\$26,250.00	<u> </u>
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
-4443-15-RD04-01 Group IV - Tree Pruning and Shaping (Crown R				
upplier dj Service, Inc.	Unit Price First Offer - \$35.00	Qty/Unit 600 / each	Total Price Attch. \$21,000.00	Docs
roduct Code:		Supplier Product Code:		<u> </u>
gency Notes:		Supplier Notes:		
		600 / each	\$24,000.00	
······································	First Offer - \$40.00	S		J
roduct Code:	First Offer - \$40.00	Supplier Product Code: Supplier Notes:		<u> </u>
roduct Code: gency Notes:	First Offer - \$40.00		\$27,000.00	J O
roduct Code: gency Notes: aydel Landscaping Corp roduct Code:		Supplier Notes: 600 / each Supplier Product Code:	\$27,000.00	
roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes:	First Offer - \$45.00	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes:		Ū
oduct Code: gency Notes: gydel Landscaping Corp oduct Code: gency Notes: 'S Land Services Corp [Ad]		Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each	\$27,000.00 \$39,000.00	
oduct Code: gency Notes: gydel Landscaping Corp oduct Code: gency Notes: 'S Land Services Corp [Ad] oduct Code:	First Offer - \$45.00	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes:		J Ú
oduct Code: gency Notes: aydel Landscaping Corp oduct Code: gency Notes: "S Land Services Corp [Ad] oduct Code: gency Notes: ality Tree Care, Inc.	First Offer - \$45.00	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code:		Ū
roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: uality Tree Care, Inc.	First Offer - \$45.00	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Product Code:	\$39,000.00	J Ú
roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: uality Tree Care, Inc.	First Offer - \$45.00	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code:	\$39,000.00	J Ú
roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: uality Tree Care, Inc. roduct Code: gency Notes:	First Offer - \$45.00 First Offer - \$65.00 First Offer - \$100.00 aising): 31' - 40' canopy of the state of the stat	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$39,000.00 \$60,000.00	I I
LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: uality Tree Care, Inc. roduct Code: gency Notes:	First Offer - \$45.00 First Offer - \$65.00 First Offer - \$100.00 aising): 31' - 40' canopy of Unit Price	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$39,000.00 \$60,000.00 Total Price Attch.	i)
roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: LCOUNTY TREE & LANDSCAPE CO, INC	First Offer - \$45.00 First Offer - \$65.00 First Offer - \$100.00 aising): 31' - 40' canopy of the state of the stat	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Iameter Qty/Unit 700 / each	\$39,000.00 \$60,000.00	I I
roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: uality Tree Care, Inc. roduct Code: gency Notes:	First Offer - \$45.00 First Offer - \$65.00 First Offer - \$100.00 aising): 31' - 40' canopy of Unit Price	Supplier Notes: 600 / each Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 600 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$39,000.00 \$60,000.00 Total Price Attch.	i)

Product Code:		Supplier Product Code:		
Agency Notes: edj Service, Inc.	First Offer - \$55.00	Supplier Notes: 700 / each	\$38,500.00	Û
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
BTS Land Services Corp [Ad]	First Offer - \$65.00		\$45,500.00	<u> </u>
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Quality Tree Care, Inc.	First Offer - \$125.00	700 / each	\$87,500.00	0
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
F-4443-15-RD04-03 Group IV - Tree Pruning and Shapin Supplier	g (Crown Raising): 41' - 50' canopy o Unit Price	7	Total Price Attch.	Docs
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$40.00	700 / each	\$28,000.00	J J
Product Code:		Supplier Product Code:		
Agency Notes:	First Offer - \$60.00	Supplier Notes: 700 / each	£42,000,00	
laydel Landscaping Corp roduct Code:	First Offer - \$60.00	Supplier Product Code:	\$42,000.00	Û
gency Notes:		Supplier Notes:		
STS Land Services Corp [Ad]	First Offer - \$65.00	700 / each	\$45,500.00	l 0
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
dj Service, Inc.	First Offer - \$65.00	700 / each	\$45,500.00	T Ø
roduct Code:		Supplier Product Code:		الله الله
gency Notes:	T 12	Supplier Notes:		
Quality Tree Care, Inc.	First Offer - \$150.00	700 / each	\$105,000.00	
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
AM2 15 DD 05 01 Croup V. Trop Doubles and Shaping	(Groven Body etion): 111 201 con on	dla-soto-		
-4443-15-RD05-01 Group V - Tree Pruning and Shaping supplier	Unit Price		Total Price Attch.	Docs
aydel Landscaping Corp	First Offer - \$35.00	2 / each	\$70.00	0
		Supplier Product Code:		
gency Notes:	First Offer - \$60.00	Supplier Notes:	\$120.00 l	
gency Notes: uality Tree Care, Inc.	First Offer - \$60.00	Supplier Notes: 2 / each	\$120.00	J
gency Notes: ruality Tree Care, Inc. roduct Code:	First Offer - \$60.00	Supplier Notes:	\$120.00	
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes:	First Offer - \$60.00	Supplier Notes: 2 / each Supplier Product Code:	\$120.00 \$150.00	
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code:		Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code:		
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes:		Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each		
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: j Service, Inc.	First Offer - \$75.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes:	\$150.00	
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes:	\$150.00 \$300.00	0
gency Notes: vuality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$75.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each	\$150.00	
gency Notes: puality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$75.00 First Offer - \$150.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes:	\$150.00 \$300.00	0
gency Notes: vuality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 2 / each Supplier Notes:	\$150.00 \$300.00	0
gency Notes: vuality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 2 / each Supplier Notes: y diameter	\$150.00 \$300.00	0
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 2 / each Supplier Notes: y diameter	\$150.00 \$300.00 \$500.00	
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: 4443-15-RD05-02 Group V - Tree Pruning and Shaping upplier roduct Code:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 (Crown Reduction): 21' - 30' canop Unit Price	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 2 / each Supplier Notes: y diameter Qty/Unit 3 / each Supplier Product Code:	\$150.00 \$300.00 \$500.00 Total Price Attch.	U U
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 (Crown Reduction): 21' - 30' canop Unit Price	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: y diameter Qty/Unit 3 / each	\$150.00 \$300.00 \$500.00 Total Price Attch.	U Docs
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: -4443-15-RD05-02 Group V - Tree Pruning and Shaping upplier sydel Landscaping Corp roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 (Crown Reduction): 21' - 30' canop Unit Price First Offer - \$37.50	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: y diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes:	\$150.00 \$300.00 \$500.00 Total Price Attch.	U U
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: L443-15-RD05-02 Group V - Tree Pruning and Shaping upplier aydel Landscaping Corp roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 (Crown Reduction): 21' - 30' canop Unit Price First Offer - \$37.50 First Offer - \$125.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 9 / diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes:	\$150.00 \$300.00 \$500.00 Total Price Attch. \$112.50	Docs
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: di Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 (Crown Reduction): 21' - 30' canop Unit Price First Offer - \$37.50	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 5 / each Supplier Notes: 5 / each Supplier Product Code: Supplier Notes: 5 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes: 3 / each	\$150.00 \$300.00 \$500.00 Total Price Attch.	U U U Docs
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: L443-15-RD05-02 Group V - Tree Pruning and Shaping upplier aydel Landscaping Corp roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: User Code: Gency Notes: Gency Notes: User Code: Gency Notes: Gency	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 (Crown Reduction): 21' - 30' canop Unit Price First Offer - \$37.50 First Offer - \$125.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: 9 / diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes:	\$150.00 \$300.00 \$500.00 Total Price Attch. \$112.50	Docs
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 (Crown Reduction): 21' - 30' canop Unit Price First Offer - \$37.50 First Offer - \$125.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: y diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code:	\$150.00 \$300.00 \$500.00 Total Price Attch. \$112.50	Docs
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: If Service, Inc. roduct Code: gency Notes: L COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: 4443-15-RD05-02 Group V - Tree Pruning and Shaping upplier sydel Landscaping Corp roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: Is Land Services Corp [Ad] roduct Code: gency Notes: Is Land Services Corp [Ad] roduct Code: gency Notes: Is Land Services Corp [Ad]	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 Unit Price First Offer - \$37.50 First Offer - \$125.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: y diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code:	\$150.00 \$300.00 \$500.00 Total Price \$112.50 \$375.00	Docs
gency Notes: puality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: di Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 Unit Price First Offer - \$37.50 First Offer - \$125.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: y diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each	\$150.00 \$300.00 \$500.00 Total Price Attch. \$112.50 \$375.00 \$750.00	Docs U
gency Notes: puality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: di Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 Unit Price First Offer - \$125.00 First Offer - \$125.00 First Offer - \$125.00 First Offer - \$125.00 First Offer - \$250.00 First Offer - \$250.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: y diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each	\$150.00 \$300.00 \$500.00 Total Price \$112.50 \$375.00	Docs
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: ij Service, Inc. roduct Code: gency Notes: L COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: 4443-15-RD-05-02 Group V - Tree Pruning and Shaping upplier sydel Landscaping Corp roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: IS Land Services Corp [Ad] roduct Code: gency Notes: Is Jency Not	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 Unit Price First Offer - \$125.00 First Offer - \$125.00 First Offer - \$125.00 First Offer - \$125.00 First Offer - \$250.00 First Offer - \$250.00	Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: y diameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Product Code: Supplier Notes:	\$150.00 \$300.00 \$500.00 Total Price Attch. \$112.50 \$375.00 \$750.00	Docs U
gency Notes: uality Tree Care, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 First Offer - \$250.00 First Offer - \$125.00 First Offer - \$125.00 First Offer - \$250.00 First Offer - \$250.00 First Offer - \$350.00 First	Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: ydiameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Notes: 3 / each Supplier Notes: 3 / each Supplier Product Code: Supplier Notes:	\$150.00 \$300.00 \$500.00 Total Price Attch. \$112.50 \$375.00 \$750.00	Docs
roduct Code: gency Notes: Duality Tree Care, Inc. roduct Code: gency Notes: di Service, Inc. roduct Code: gency Notes: di Service, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	First Offer - \$75.00 First Offer - \$150.00 First Offer - \$250.00 First Offer - \$250.00 First Offer - \$125.00 First Offer - \$125.00 First Offer - \$250.00 First Offer - \$250.00 First Offer - \$350.00 First	Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: ydiameter Qty/Unit 3 / each Supplier Product Code: Supplier Notes: 3 / each Supplier Notes: 3 / each Supplier Product Code: Supplier Notes: 3 / each	\$150.00 \$300.00 \$500.00 Total Price Attch. \$112.50 \$375.00 \$750.00	Docs

		Supplier Product Code:			
Agency Notes: BTS Land Services Corp [Ad]	First Offer - \$150.00	Supplier Notes: 5 / each	\$750.00		- O
Product Code:	11136 01161	Supplier Product Code:	4750.00		W
Agency Notes:		Supplier Notes:			
Quality Tree Care, Inc.	First Offer - \$150.00	5 / each	\$750.00		<u> </u>
Product Code:		Supplier Product Code:			***************************************
Agency Notes:		Supplier Notes:			
edj Service, Inc.	First Offer - \$425.00	5/each	\$2,125.00		Û
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$750.00	5/each	\$3,750.00		Ú
Product Code:		Supplier Product Code:			•
Agency Notes:		Supplier Notes:			******
F-4443-15-RD05-04 Group V - Tree Pruning and Shaping	······				
Supplier		Qty/Unit	Total Price	Attch.	Doc
Raydel Landscaping Corp	First Offer - \$55.00		\$275.00		<u> </u>
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Quality Tree Care, Inc.	First Offer - \$150.00		\$750.00		<u> </u>
Product Code:	11135 31161 - \$130.00	Supplier Product Code:	*/50.00		U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
BTS Land Services Corp [Ad]	First Offer - \$175.00	······································	\$875.00	·····	<u> </u>
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
dj Service, Inc.	First Offer - \$650.00	5 / each	\$3,250.00		Ø
Product Code:		Supplier Product Code:			
Agency Notes:	1 5	Supplier Notes:	+c 250 00		
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$1,250.00		\$6,250.00		Û
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
agricy roces.	***************************************	Supplier Notes.	***************************************		
F-4443-15-RD06-01 Group VI - Palm Pruning: 0' - 25' tree	height				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Doc
Quality Tree Care, Inc.	First Offer - \$20.00	400 / each	\$8,000.00		Ú
Product Code:		Supplier Product Code:		L.	***************
Agency Notes:		Supplier Notes:			
Raydel Landscaping Corp	First Offer - \$25.00	400 / each	\$10,000.00		Û
Product Code:		Supplier Product Code:			
Agency Notes: edj Service, Inc.		Supplier Notes: 400 / each	\$10,000.00		 0
······································			\$10,000.00		U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RTS Land Services Corp [Ad]	First Offer - \$32.50	400 / each	\$13,000.00		Ú
Product Code:		Supplier Product Code:			ا
gency Notes:		Supplier Notes:	AND THE RESIDENCE AND THE RESI	20-00000 00000 W60 U000 0000 0000 00	
	First Offer - \$40.00	400 / each	\$16,000.00	1	Ø
LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$40.00				(e)
·······		Supplier Product Code:			
Product Code:		Supplier Product Code: Supplier Notes:			· ·
ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Igency Notes:					W
Product Code: Igency Notes: 4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree	e height	Supplier Notes:			
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier	e height Unit Price	Supplier Notes: Qty/Unit	Total Price	Attch.	Doc
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier Quality Tree Care, Inc.	e height Unit Price First Offer - \$25.00	Oty/Unit 1800 / each	Total Price \$45,000.00	Attch.	
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier Puality Tree Care, Inc. Product Code:	e height Unit Price First Offer - \$25.00	Qty/Unit 1800 / each Supplier Product Code:		Attch.	Doc
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree supplier vuality Tree Care, Inc. roduct Code: gency Notes:	e height Unit Price First Offer - \$25.00	Oty/Unit 1800 / each	\$45,000.00	Attch.	Doc
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree iupplier uality Tree Care, Inc. roduct Code: gency Notes: avdel Landscaping Corp	e height Unit Price First Offer - \$25.00 First Offer - \$27.00	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each		Attch.	Doc
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier Quality Tree Care, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code:	e height Unit Price First Offer - \$25.00 First Offer - \$27.00	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes:	\$45,000.00	Attch.	Doc
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier Quality Tree Care, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes:	e height Unit Price First Offer - \$25.00 First Offer - \$27.00	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code:	\$45,000.00	Attch.	Doc Ú
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier Quality Tree Care, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: di Service, Inc.	e height Unit Price First Offer - \$25.00 First Offer - \$27.00 First Offer - \$32.00	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$45,000.00 \$48,600.00	Attch.	Doc
Product Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier Quality Tree Care, Inc. Product Code: gency Notes: Laydel Landscaping Corp Product Code: gency Notes: daydel Service, Inc. Included Code: gency Notes: dj Service, Inc. Iroduct Code: Irod	e height Unit Price First Offer - \$25.00 First Offer - \$27.00 First Offer - \$32.00	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code: Supplier Notes:	\$45,000.00 \$48,600.00	Attch.	Doc Ú
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree Supplier Quality Tree Care, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes:	e height Unit Price First Offer - \$25.00 First Offer - \$27.00 First Offer - \$32.00	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code:	\$45,000.00 \$48,600.00	Attch.	Doc Ú
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree supplier suality Tree Care, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code:	e height Unit Price First Offer - \$25.00 First Offer - \$27.00 First Offer - \$32.00 First Offer - \$32.50	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code:	\$45,000.00 \$48,600.00 \$57,600.00	Attch.	Doc Ú
roduct Code: gency Notes: -4443-15-RD06-02 Group VI - Palm Pruning: 26' - 50' tree supplier suality Tree Care, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes:	e height Unit Price First Offer - \$25.00 First Offer - \$27.00 First Offer - \$32.00 First Offer - \$32.50	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code: Supplier Notes:	\$45,000.00 \$48,600.00 \$57,600.00 \$58,500.00	Attch.	Doc 0
Product Code:	e height Unit Price First Offer - \$25.00 First Offer - \$27.00 First Offer - \$32.00 First Offer - \$32.50 First Offer - \$40.00	Qty/Unit 1800 / each Supplier Product Code: Supplier Notes: 1800 / each Supplier Product Code:	\$45,000.00 \$48,600.00 \$57,600.00	Attch.	Doc:

Product Feedback

Supplier	Unit Price		Total Price	Attch.	Docs
Quality Tree Care, Inc.	First Offer - \$30.00	1800 / each	\$54,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Raydel Landscaping Corp	First Offer - \$32.50	<i>-</i>	\$58,500.00		Ø
Product Code:		Supplier Product Code:			
Agency Notes: BTS Land Services Corp [Ad]	First Offer - \$32.50	Supplier Notes: 1800 / each	\$58,500.00		Ð
Product Code:	7113C OTTC	Supplier Product Code:	+30,300.00		U
Agency Notes:		Supplier Notes:			
edj Service, Inc.	First Offer - \$45.00	1800 / each	\$81,000.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$50.00	1800 / each	\$90,000.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
F-4443-15-RD07-01 Group VII - Beach Palm Pruning loc	rated on Hollwood Beach: 0' - 25' to	ree height		***************************************	
Supplier	Unit Price		Total Price	Attch.	Docs
Quality Tree Care, Inc.	First Offer - \$25.00	100 / each	\$2,500.00		Ú
Product Code:	***************************************	Supplier Product Code:			
Agency Notes: edj Service, Inc.	First Offer - \$25.00	Supplier Notes: 100 / each	\$2,500.00	1	<u> </u>
Product Code:	1 1	Supplier Product Code:	,		<u>.</u>
Agency Notes:	T	Supplier Notes:			
BTS Land Services Corp [Ad]	First Offer - \$32.50	100 / each	\$3,250.00		U
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Raydel Landscaping Corp	First Offer - \$35.50	100 / each	\$3,550.00	·····	Ø
Product Code:		Supplier Product Code:	······································		
Agency Notes:	F 0ff	Supplier Notes:			<u> </u>
	First Offer - \$60.00	100 / each	\$6,000.00		
Product Code:	FIrst Offer - \$60.00	Supplier Product Code: Supplier Notes:	\$6,000.00		W W
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	\$6,000.00		U
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loca	ated on Hollywood Beach: 26' - 50'	Supplier Product Code: Supplier Notes: tree height		A++-b	
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc Supplier		Supplier Product Code: Supplier Notes: tree height	Total Price	Attch.	Docs
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc Supplier Quality Tree Care, Inc.	ated on Hollywood Beach: 26' - 50' Unit Price	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each		Attch.	
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes:	Total Price \$12,000.00	Attch.	Docs Ú
Product Code: Igency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Igency Notes: STS Land Services Corp [Ad]	ated on Hollywood Beach: 26' - 50' Unit Price	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each	Total Price	Attch.	Docs
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code:	Total Price \$12,000.00	Attch.	Docs Ú
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes:	Total Price \$12,000.00	Attch.	Docs Ú
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00	Attch.	Docs
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$37.50	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$12,000.00 \$13,000.00 \$15,000.00	Attch.	Docs J
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Service, Inc.	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each	Total Price \$12,000.00 \$13,000.00	Attch.	Docs Ú
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$37.50	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price \$12,000.00 \$13,000.00 \$15,000.00	Attch.	Docs J
Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$37.50	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00	Attch.	Docs J
Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$37.50 First Offer - \$40.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00	Attch.	Docs (i)
Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$37.50 First Offer - \$40.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes:	Total Price \$12,000.00 \$13,000.00 \$15,000.00	Attch.	Docs (i)
Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Bd Service, Inc. Product Code: Agency Notes: Bd Service, Inc. Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes:	Total Price \$12,000.00 \$13,000.00 \$15,000.00	Attch.	Docs (i)
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Notes: 400 / each Supplier Product Code: Supplier Notes:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$16,000.00 \$ \$Total Price \$12,000.00 \$20,0	Attch.	Docs Ú
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Service, Inc. Product Code: Agency Notes: Agency Notes: Agency Notes: Agency Notes: Agency Notes: Agency Notes: ACCOUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: ACCOUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: F-4443-15-RD07-03 Group VII - Beach Palm Pruning local Supplier Quality Tree Care, Inc.	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$20,000.00		Docs (i)
Product Code: gency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning local Supplier Quality Tree Care, Inc. Product Code: gency Notes: ETS Land Services Corp [Ad] Product Code: gency Notes: Eavydel Landscaping Corp Product Code: gency Notes: Edj Service, Inc. Product Code: gency Notes: Edj Service, Inc. Product Code: gency Notes: Edg Service, Inc. Product Code: gency Notes: ELL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: ELL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: Ed-4443-15-RD07-03 Group VII - Beach Palm Pruning local Supplier Quality Tree Care, Inc. Product Code:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$16,000.00 \$ \$Total Price \$12,000.00 \$20,0		Docs (i)
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$16,000.00 \$ \$Total Price \$12,000.00 \$20,0		Docs U
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning local Supplier Quality Tree Care, Inc. Product Code: Agency Notes: Agency	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$20,000.00		Docs Ú
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BIS Land Services Corp [Ad] Product Code: Agency Notes: Advidel Landscaping Corp. Product Code: Agency Notes: Advidel Code: Agency Notes: Advidel Code: Agency Notes: ACCOUNTY TREE & LANDSCAPE CO, INC. Product Code: Agency Notes: ACCOUNTY TREE & LANDSCAPE CO, INC. Product Code: Agency Notes: ACCOUNTY TREE & LANDSCAPE CO, INC. Product Code: Agency Notes: ACCOUNTY TREE & LANDSCAPE CO, INC. Product Code: Agency Notes: BIS Land Services Corp [Ad] Product Code: Agency Notes: BIS Land Services Corp [Ad] Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price First Offer - \$30.00 First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$20,000.00 \$3,250.00		Docs U
Product Code: Agency Notes: F-4443-15-RD07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: Agency No	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$20,000.00		Docs U
Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: 8TS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp. Product Code: Agency Notes: Agency Notes: Agency Notes: Agency Notes: Product Code: Agency Notes: Agency Notes: Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price First Offer - \$30.00 First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$20,000.00 \$3,250.00		Docs (i)
Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Agency Notes: Product Code: Agency Notes: BLL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Raydel Landscaping Corp	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price First Offer - \$30.00 First Offer - \$30.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$20,000.00 \$3,250.00		Docs d
Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp. Product Code: Agency Notes:	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price First Offer - \$30.00 First Offer - \$30.00 First Offer - \$40.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$3,250.00 \$3,250.00		Docs U
ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: F-4443-15-RD-07-02 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Agency Notes: Agency Notes: Agency Notes: Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC Product Code: Agency Notes: F-4443-15-RD-07-03 Group VII - Beach Palm Pruning loc. Supplier Quality Tree Care, Inc. Product Code: Agency Notes: BTS Land Services Corp [Ad] Product Code: Agency Notes: Raydel Landscaping Corp Product Code: Agency Notes: Agency	ated on Hollywood Beach: 26' - 50' Unit Price First Offer - \$30.00 First Offer - \$32.50 First Offer - \$40.00 First Offer - \$50.00 ated on Hollywood Beach: 51' up tr Unit Price First Offer - \$30.00 First Offer - \$30.00 First Offer - \$40.00	Supplier Product Code: Supplier Notes: tree height Qty/Unit 400 / each Supplier Product Code:	Total Price \$12,000.00 \$13,000.00 \$15,000.00 \$15,000.00 \$16,000.00 \$20,000.00 \$3,250.00 \$3,250.00		Docs d

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		***************************************	
F-4443-15-RD08-01 Group VIII - Fence Line Trimming of Right-of	-Ways: 0' - 50' of trimming				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Raydel Landscaping Corp	First Offer - \$0.20	500 / linear foot	\$100.00		Ð
roduct Code:		Supplier Product Code:			
gency Notes: BTS Land Services Corp [Ad]	First Offer - \$1.00	Supplier Notes: 500 / linear foot	\$500.00		Ū.
roduct Code:		Supplier Product Code:			×
gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$6.50	Supplier Notes: 590 / Hinear foot	\$3,250.00		<u> </u>
Product Code:	Triscoller - \$0.30	Supplier Product Code:	\$3,230.00		U
gency Notes:		Supplier Notes:			
ouality Tree Care, Inc.	First Offer - \$10.00	500 / linear foot	\$5,000.00		Ð
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:			
dj Service, Inc.	First Offer - \$75.00	500 / linear foot	\$37,500.00		Ú
roduct Code; gency Notes:		Supplier Product Code: Supplier Notes:			<u> </u>
474-15-RD08-02 Group VIII - Fence Line Trimming of Right-of	-Ways: 51' - 100' of trimmir	ng			
Supplier	Unit Price	······	Total Price	Attch.	Docs
aydel Landscaping Corp	First Offer - \$0.20		\$100.00		J
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:			
TS Land Services Corp [Ad]	First Offer - \$1.00	500 / linear foot	\$500.00		Ú
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:			
LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$6.50	500 / linear foot	\$3,250.00		Ú
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:			
uality Tree Care, Inc.	First Offer - \$10.00		\$5,000.00		(I)
roduct Code:		Supplier Product Code:			
gency Notes: dj Service, Inc.	First Offer - \$125.00	Supplier Notes: 500 / linear foot	\$62,500.00		Ú
roduct Coder gency Notes:	11130 01101 7123.33	Supplier Product Code: Supplier Notes:	\$02,500.00		
4749-15-RD08-03 Group VIII - Fence Line Trimming of Right-of supplier		ing Qty/Unit	Total Price	Attch.	Docs
TS Land Services Corp [Ad]	First Offer - \$1.00	· 	\$500.00	Accor.	<u> </u>
roduct Code:		Supplier Product Code:			
gency Notes:		Supplier Notes:			
LL COUNTY TREE & LANDSCAPE CO, INC roduct Code:	First Offer - \$6.50		\$3,250.00		<u> </u>
gency Notes:		Supplier Product Code: Supplier Notes:			
uality Tree Care, Inc.	First Offer - \$10.00		\$5,000.00		Ð
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:			
aydel Landscaping Corp	First Offer - \$125.00	- 	\$62,500.00		J
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:			
dj Service, Inc.	First Offer - \$175.00		\$87,500.00		Ū
roduct Coder gency Notes:		Supplier Product Code: Supplier Notes:			`\
-7743-15-RD08-04 Group VIII - Fence Line Trimming of Right-of	Ways: 1511 2001 of twin	ing			
upplier	Unit Price	· /	Total Price	Atteh.	Docs
IS Land Services Corp [Ad]	First Offer - \$1.00		\$500.00		J
roduct Code:	······································	Supplier Product Code:			······································
gency Notes: _L COUNTY TREE & LANDSCAPE CO, INC	First Offer \$6,50	Supplier Notes: 500 / linear foot	\$3,250.00		Ø
roduct Code:		Supplier Product Code:			
gency Notes: uality Tree Care, Inc.	First Offer - \$10.00	Supplier Notes: 500 / linear foot	\$5,000.00		Ú
	1 11130 01101 - \$10.00	3307 micai 1000	00.000,60		e e
		Supplier Product Code:			
roduct Code: gency Notes: laydel Landscaping Corp	First Offer - \$125.00	Supplier Product Code: Supplier Notes: 500 / linear foot	\$62,500.00		

1	Product Code:		Supplier Product Code:		
•	Agency Notes: edj Service, Inc.	First Offer - \$250.00	Supplier Notes:	\$125,000.00	1 0
			Supplier Product Code:	\$123,000.00	0
	Product Code: Igency Notes:		Supplier Notes:		
١		: 201' and greater of t	rimming		
•	Supplier	Unit Price	Qty/Unit	Total Price Attch	n. Docs
	BTS Land Services Corp [Ad]	First Offer - \$1.00	500 / linear foot	\$500.00	0
	Product Code:		Supplier Product Code:		
•	Agency Notes: ALL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$6.50	Supplier Notes: 500 / linear foot	\$3,250.00	
	Product Code:		Supplier Product Code:		
Δ	gency Notes:		Supplier Notes		
_	Quality Tree Care, Inc.	First Offer - \$10.00	5007 linear foot	\$5,000.00	Ú
	Product Code: Agency Notes:		Supplier Product Gode: Supplier Notes:		
۰		First Offer - \$150.00	500 / linear foot	\$75,000.00	- U
	Product Code:		Supplier Product Code:		
	gency Notes:		Supplier Notes:		
~		First Offer - \$400.00	500 / linear foot	\$200,000.00	
7 4	roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
ŗ	F-4443-15-RD09-01 Group IX - Complete Australian Pine Tree Remova	il: 0" - 15" DRH			
	Supplier	Unit Price	Qty/Unit	Total Price Attch	
-		First Offer - \$300.00	1 / each	\$300.00	Ū
	roduct Code:		Supplier Product Code:		
~	gency Notes:	First Offer - \$350.00	Supplier Notes: 1 / each	\$350.00	l (j
	roduct Code:		Supplier Product Code:	\$330,00	
	gency Notes:		Supplier Notes:		
	laydel Landscaping Corp	First Offer - \$400.00	1 / each	\$400.00	į į
	Product Code:		Supplier Product Code:		
۰	vgency Notes: NLL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$400.00	Supplier Notes: 1 / each	\$400.00	0
	Product Code:		Supplier Product Code:	710000	
	Agency Notes:		Supplier Notes:		
				\$800.00	
٠	BTS Land Services Corp [Ad]	First Offer - \$800.00	1 / each	400.00	Ú
	BTS Land Services Corp [Ad] Product Code: Agency Notes:		1 / each Supplier Product Code: Supplier Notes:	200.00	
	Product Code: Agency Notes:		Supplier Product Code:	400.00	l U
	Product Code: Agency Notes: F-4443-15-RD09-02 Group IX - Complete Australian Pine Tree Remova	ıl: 16" - 30" DBH	Supplier Product Code: Supplier Notes:		
	Product Code: Ingency Notes: F-4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier	ıl: 16" - 30" DBH	Supplier Product Code: Supplier Notes: Qty/Unit	Total Price Atto	h. Docs
BERNA	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc.	al: 16" - 30" DBH Unit Price	Supplier Product Code: Supplier Notes: Qty/Unit	Total Price Atto	h. Docs
	roduct Code: gency Notes: F-4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes:	il: 16" - 30" DBH Unit Price First Offer - \$700.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes:	Total Price Atto	h. Docs
	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. rroduct Code: gency Notes: laydel Landscaping Corp	al: 16" - 30" DBH Unit Price	Supplier Product Code: Supplier Notes: Oty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each	Total Price Atto	h. Docs
THE PARTY OF A PRINCE	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova supplier dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code:	il: 16" - 30" DBH Unit Price First Offer - \$700.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes:	Total Price Atto	h. Docs
THE PARTY OF A PRINCE	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova supplier dj Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes:	il: 16" - 30" DBH Unit Price First Offer - \$700.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code:	Total Price Atto	h. Docs
THE PART OF A COLOR	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: uallity Tree Care, Inc. roduct Code:	il: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code:	Total Price Atto \$1,400.00 \$1,600.00	h. Docs
	Product Code: Ingency Notes: F-4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier Indi Service, Inc. Product Code: Ingency Notes: Raydel Landscaping Corp Product Code: Ingency Notes: Ingency	il: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes:	Total Price Atto \$1,400.00 \$1,600.00 \$2,000.00	h. Docs
	roduct Code: gency Notes: F-4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. Froduct Code: gency Notes: laydel Landscaping Corp Froduct Code: gency Notes: puality Tree Care, Inc. Froduct Code: gency Notes:	il: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each	Total Price Atto \$1,400.00 \$1,600.00	h. Docs
THE PARTY OF A STATE OF A SALE	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: buality Tree Care, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	il: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes:	Total Price Atto \$1,400.00 \$1,600.00 \$2,000.00	h. Docs
TO A CONTRACTOR AND A C	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: buality Tree Care, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes:	il: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code:	Total Price Atto \$1,400.00 \$1,600.00 \$2,000.00	h. Docs
BARRARA	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. rroduct Code: gency Notes: taydel Landscaping Corp rroduct Code: gency Notes: Duality Tree Care, Inc. rroduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC rroduct Code: gency Notes:	il: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code:	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00	h. Docs
	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: Duality Tree Care, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LTS Land Services Corp [Ad] roduct Code: gency Notes:	il: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00 First Offer - \$2,000.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00	h. Docs
	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier di Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: Duality Tree Care, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes:	il: 16" - 30" DBH	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Notes:	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00 \$4,000.00	h. Docs
	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: buality Tree Care, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes:	II: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00 First Offer - \$2,000.00 First Offer - \$2,500.00 II: 31" - 48" DBH Unit Price	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 2 / each Supplier Notes:	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00 \$4,000.00 \$5,000.00 Total Price Attc Attc	h. Docs
	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes: avdel Landscaping Corp roduct Code: gency Notes: buality Tree Care, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LTS Land Services Corp [Ad] roduct Code: gency Notes:	il: 16" - 30" DBH	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00 \$4,000.00	h. Docs
BIRARRARA	Product Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. Product Code: gency Notes: Laydel Landscaping Corp Product Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: -4443-15-RD-09-03 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. Product Code: gency Notes:	II: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00 First Offer - \$2,000.00 First Offer - \$2,500.00 II: 31" - 48" DBH Unit Price First Offer - \$1,200.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: Qty/Unit 3 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00 \$4,000.00 \$5,000.00 \$5,000.00 Total Price Attc \$3,600.00	h. Docs
	roduct Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: Duality Tree Care, Inc. roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes: TS Land Services Corp [Ad] roduct Code: gency Notes:	II: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00 First Offer - \$2,000.00 First Offer - \$2,500.00 II: 31" - 48" DBH Unit Price	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: Qty/Unit 3 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00 \$4,000.00 \$5,000.00 Total Price Attc Attc	h. Docs
B C A F C C A C C A C A C A C A C A C A C	Product Code: gency Notes: -4443-15-RD-09-02 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. Product Code: gency Notes: Laydel Landscaping Corp Product Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: -4443-15-RD-09-03 Group IX - Complete Australian Pine Tree Remova Supplier dj Service, Inc. Product Code: gency Notes:	II: 16" - 30" DBH Unit Price First Offer - \$700.00 First Offer - \$800.00 First Offer - \$1,000.00 First Offer - \$2,000.00 First Offer - \$2,500.00 II: 31" - 48" DBH Unit Price First Offer - \$1,200.00	Supplier Product Code: Supplier Notes: Qty/Unit 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 2 / each Supplier Product Code: Supplier Notes: 4 / each Supplier Product Code: Supplier Notes: Qty/Unit 3 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	Total Price Attc \$1,400.00 \$1,600.00 \$2,000.00 \$4,000.00 \$5,000.00 \$5,000.00 Total Price Attc \$3,600.00	h. Docs

		Supplier Product Code: Supplier Notes:		
Agency Notes: BTS Land Services Corp [Ad]	First Offer - \$2,500.00	······································	\$7,500.00	l li
Product Code:		Supplier Product Code:		
Agency Notes: NLL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$3,000.00	Supplier Notes: 3 / each	#0.000.00	0
Product Code:	First Offer - \$3,000.00	Supplier Product Code:	\$9,000.00	0
gency Notes:		Supplier Notes:		
4443-15-RD10-01 Group X - Complete Removal of Palm T	rees: 0' - 25' tree height			***************************************
Supplier	Unit Price	Qty/Unit	Total Price Attch.	Docs
TS Land Services Corp [Ad]	First Offer - \$45.00	50 / each	\$2,250.00	<u> </u>
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
dj Service, Inc.	First Offer - \$125.00	50 / each	\$6,250.00	l l
roduct Code:		Supplier Product Code:		
gency Notes: Quality Tree Care, Inc.	First Offer - \$200.00	Supplier Notes: 50 / each	\$10,000.00	<u> </u>
roduct Code:		Supplier Product Code:		
gency Notes:		Supplier Notes:		
aydel Landscaping Corp	First Offer - \$275.00	50 / each	\$13,750.00	<u> </u>
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$300.00	50 / each	\$15,000.00	Ú
roduct Code:		Supplier Product Code:		
gency Notes:		Supplier Notes:		
-4443-15-RD10-02 Group X - Complete Removal of Palm T	rees: 26' - 50' tree height			
Supplier	Unit Price	Qty/Unit	Total Price Attch.	Docs
TS Land Services Corp [Ad]	First Offer - \$75.00	50 / each	\$3,750.00	l 0
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
dj Service, Inc.	First Offer - \$225.00	50 / each	\$11,250.00	<u> </u>
roduct Code:		Supplier Product Code:	······································	
gency Notes: Quality Tree Care, Inc.	First Offer - \$300.00	Supplier Notes: 50 / each	¢1E 000 00	
roduct Code:		Supplier Product Code:	\$15,000.00	0
gency Notes:		Supplier Notes:		
aydel Landscaping Corp	First Offer - \$375.00	50 / each	\$18,750.00	Ú
roduct Code: gency Notes:		Supplier Product Code: Supplier Notes:		
LL COUNTY TREE & LANDSCAPE CO, INC	First Offer - \$450.00	50 / each	\$22,500.00	0
roduct Code:		Supplier Product Code:		
gency Notes:		Supplier Notes:		
G-1.57 . 1016.5.	vanneren (Supplier Notes.		
		Supplier Notes.		***************************************
F-4443-15-RD10-03 Group X - Complete Removal of Palm T Supplier	rees: 51' up tree height Unit Price	Qty/Unit	Total Price Attch.	
	rees: 51' up tree height Unit Price First Offer - \$250.00	Qty/Unit 50 / each	Total Price Attch. \$12,500.00	Docs Ú
	rees: 51' up tree height Unit Price First Offer - \$250.00	Qty/Unit	······	
	rees: 51' up tree height Unit Price First Offer - \$250.00	Qty/Unit 50 / each Supplier Product Code:	······	
-4443-15-RD10-03 Group X - Complete Removal of Palm T supplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code:	rees: 51' up tree height Unit Price First Offer - \$250.00 First Offer - \$350.00	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code:	\$12,500.00	<u> 0</u>
F-4443-15-RD10-03 Group X - Complete Removal of Palm T supplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes:	rees: 51' up tree height Unit Price First Offer - \$250.00 First Offer - \$350.00	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Product Code:	\$12,500.00 \$17,500.00	Ú Ú
	rees: 51' up tree height Unit Price First Offer - \$250.00 First Offer - \$350.00 First Offer - \$500.00	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each	\$12,500.00	<u> 0</u>
F-4443-15-RD10-03 Group X - Complete Removal of Palm T supplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes:	rees: 51' up tree height Unit Price First Offer - \$250.00 First Offer - \$350.00 First Offer - \$500.00	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	\$12,500.00 \$17,500.00	J J
-4443-15-RD10-03 Group X - Complete Removal of Palm T supplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each	\$12,500.00 \$17,500.00	Ú Ú
-4443-15-RD10-03 Group X - Complete Removal of Palm T upplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code:	\$12,500.00 \$17,500.00 \$25,000.00	J J
-4443-15-RD10-03 Group X - Complete Removal of Palm T upplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes:L COUNTY TREE & LANDSCAPE CO, INC. roduct Code: gency Notes:	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each	\$12,500.00 \$17,500.00 \$25,000.00	
r-4443-15-RD10-03 Group X - Complete Removal of Palm T rupplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: uality Tree Care, Inc.	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code:	\$12,500.00 \$17,500.00 \$25,000.00 \$27,500.00	
F-4443-15-RD10-03 Group X - Complete Removal of Palm T supplier TS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: uality Tree Care, Inc. roduct Code:	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each	\$12,500.00 \$17,500.00 \$25,000.00 \$27,500.00	
F-4443-15-RD10-03 Group X - Complete Removal of Palm T is is implier TS Land Services Corp [Ad] Troduct Code: gency Notes: dj Service, Inc. Troduct Code: gency Notes: aydel Landscaping Corp Troduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Troduct Code: gency Notes: uality Tree Care, Inc. Troduct Code: gency Notes:	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code:	\$12,500.00 \$17,500.00 \$25,000.00 \$27,500.00	
F-4443-15-RD10-03 Group X - Complete Removal of Palm T Supplier ITS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: buility Tree Care, Inc. roduct Code: gency Notes: coduct Code: gency Notes:	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	\$12,500.00 \$17,500.00 \$25,000.00 \$27,500.00 Total Price Attch.	U U
F-4443-15-RD10-03 Group X - Complete Removal of Palm T Supplier ITS Land Services Corp [Ad] roduct Code: gency Notes: dj Service, Inc. roduct Code: gency Notes: aydel Landscaping Corp roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: roduct Code: gency Notes: LL COUNTY TREE & LANDSCAPE CO, INC roduct Code: gency Notes: roduct Code: gency Notes: roduct Code: gency Notes:	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Notes: 50 / each Supplier Notes: 50 / each Supplier Notes:	\$12,500.00 \$17,500.00 \$25,000.00 \$27,500.00 \$30,000.00	0
F-4443-15-RD10-03 Group X - Complete Removal of Palm T Supplier ITS Land Services Corp [Ad] Product Code: gency Notes: di Service, Inc. Product Code: igency Notes: laydel Landscaping Corp Product Code: igency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: gency Notes: Duality Tree Care, Inc. Product Code: igency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: igency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: igency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: igency Notes: LL COUNTY TREE & LANDSCAPE CO, INC Product Code: igency Notes:	rees: 51' up tree height	Qty/Unit 50 / each Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes: 50 / each Supplier Notes: 50 / each Supplier Product Code: Supplier Product Code: Supplier Notes:	\$12,500.00 \$17,500.00 \$25,000.00 \$27,500.00 Total Price Attch.	U U

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Raydel Landscaping Corp	First Offer - \$250.00	100 / haur	\$25,000.00	9
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
edi Service, Inc.	First Offer - \$250,00	100 / hour	\$25,000.00	Ð
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	, volume (4 de marie de la company de la com	
BTS Land Services Corp [Ad]	First Offer • 3275.00	100 / hour	\$27,500.00	j
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

	\$477;955:00 (42/42 items)
	# 475.455, 0
Davie, FC 33323	# 113:123
Supplier Notes:	
	\$717,732.50 · (42/42 items)
Address 560 east 36 street	4 - 5
hialeah, FL 33013	\$ 517,532.50
Supplier Notes:	,
	\$722,820:00 (42/42 items)
Address PO Box 460892	# 1078000
Fort Lauderdale, FL 33346	\$ 697,520.00
Supplier Notes:	
	\$759,800.00- (42/42 items)
Address 5008 PROSCH CIRCLE	# -1:12 -150 N
NORTH PORT, FL 34288	# 743,550,00
Supplier Notes:	
	\$1,055,590:00~ (42/42 items)
Address 4861 SW 106th Ave.	:0
Davie, FL 33328	#543,090
Supplier Notes:	0.0,
	Address 560 east 36 street hialeah, FL 33013 Supplier Notes: Address PO Box 460892 Fort Lauderdale, FL 33346 Supplier Notes: Address 5008 PROSCH CIRCLE NORTH PORT, FL 34288 Supplier Notes: Address 4861 SW 106th Ave.

Close

FORME PRICING ABOVE REFLECTS ME CIT'S REJECTION OF ME BIOS FER BID SECTION/ GROUP VIII (01-05)

Questions? Contact a BidSync representative: 800-990-9339 or email: support@bidsync.com

Orders Tools Support | Privacy Rid Search DDNS

Copyright @ 1999-2015 - BidSync - All rights reserved.

Product Feedback

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheec. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsive project in the designated project are reliected or this abulation street, nevert, rise against publicable and asset as the designated project are reliected or this abulation street, never a construction of the designated project are reliected or this abulation street, never a construction of the designated project are reliected or this abulation street, never a construction of the designated project and relieve the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.